

Dividing by Negative Powers of Ten (E)

Name: _____

Date: _____

Divide each number by negative powers of ten.

$43 \div 10^0 =$

$43 \div 10^{-1} =$

$43 \div 10^{-2} =$

$43 \div 10^{-3} =$

$43 \div 10^{-4} =$

$29 \div 10^0 =$

$29 \div 10^{-1} =$

$29 \div 10^{-2} =$

$29 \div 10^{-3} =$

$29 \div 10^{-4} =$

$46 \div 10^0 =$

$46 \div 10^{-1} =$

$46 \div 10^{-2} =$

$46 \div 10^{-3} =$

$46 \div 10^{-4} =$

$82 \div 10^0 =$

$82 \div 10^{-1} =$

$82 \div 10^{-2} =$

$82 \div 10^{-3} =$

$82 \div 10^{-4} =$

$79 \div 10^0 =$

$79 \div 10^{-1} =$

$79 \div 10^{-2} =$

$79 \div 10^{-3} =$

$79 \div 10^{-4} =$

$10 \div 10^0 =$

$10 \div 10^{-1} =$

$10 \div 10^{-2} =$

$10 \div 10^{-3} =$

$10 \div 10^{-4} =$

$98 \div 10^0 =$

$98 \div 10^{-1} =$

$98 \div 10^{-2} =$

$98 \div 10^{-3} =$

$98 \div 10^{-4} =$

$22 \div 10^0 =$

$22 \div 10^{-1} =$

$22 \div 10^{-2} =$

$22 \div 10^{-3} =$

$22 \div 10^{-4} =$

$69 \div 10^0 =$

$69 \div 10^{-1} =$

$69 \div 10^{-2} =$

$69 \div 10^{-3} =$

$69 \div 10^{-4} =$

$56 \div 10^0 =$

$56 \div 10^{-1} =$

$56 \div 10^{-2} =$

$56 \div 10^{-3} =$

$56 \div 10^{-4} =$